
 Page | 1 
 

 

Slingshot Master Cylinder Brace 

Install Instructions 

 
 

 
Component List: 

QTY    Description      

1 ZZP Slingshot master cylinder brace 

2 Swivel foot 

1 M8 x 25 socket head bolt Stainless 

1 M8 washer Stainless 

1  M6 x 35 socket head bolt Stainless-Fully 
threaded 

1 M6 Fender washer Stainless 

1 M6 Flange nut Stainless 

 

 

 

Tools needed: 



 Page | 2 
 

T25 torx socket 

ratchet 

5mm allen wrench 

6mm allen wrench 

10mm wrench 

13mm wrench 

 

Installation 

1. Use T25 socket to remove bolt circled in the picture. 

 
 

2. Use M6 bolt and washer to replace the bolt removed in the first step.  This bolt threads into a nut welded to the chassis.  

Tighten bolt. 

 

 



 Page | 3 
 

3. Position master cylinder brace over M6 bolt, install M8 bolt and washer in empty hole that lines up with the master cylinder 

brace. 

 

 
 

4. Thread M6 flange nut onto the M6 bolt and tighten. 

 

 
 



 Page | 4 
 

5. Adjust foot till it rests on the end of the master cylinder, then use 13mm wrench to turn adjuster 1/3 turn further.  This pre-

loads master cylinder for max effectiveness. 

 

6. Tighten jam nut with 13mm wrench. 

 

7. Enjoy a firmer brake pedal and increased responsiveness! 


